Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320702 Date: 06/01/2016
Subject Name: Advanced Computer Programming
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
English version is authentic.

oA W

No. Question Text and Option
1. Ifanarray is declared as a[]={0,2,4,6,8}; then what is the value of a[4]?

A 2 B. 4
C. 6 D. 8

2. Ifanarray is declared as int a[5][5]; how many elements can it store?
A 5 B. 25
C. 10 D. 0

3. [Ifanarray is declared as int a[50]; how many elements can it store?
A. 49 B. 50
C. 51 D. 0

4. How will you print \n on the screen?

A.  printf("\n"); B. echo "\n";
C.  printf('\n"); D.  printf("\\n");
5. What will be the output of 5.0 / 2?
A 2 B. 3
C. O D. 25
6. Every C Program must have one function called?
A. switch() B. main()
C. struct D. for()
7. Pointer is special kind of variable which is used to stored of the variable.
A. Datatype B.  Address
C. Variable name D. value
8. Address stored in the pointer variable is of the
A. Integer B.  Character
C. Floating D. Array
9. In order to fetch the address of the variable we write preceding sign before
variable.
A % B.
c. = D. &
10. Below is an example of
int matrix[3][3];
A. 2-Darray B. 1-Darray
C. 3-Darray D. 4-Darray
11. void main(){
int x=2;

for(x=1;x<5;x++);
printf(“x=%d\n”,x);

What will be printed when sample code above is executed?
A x=0 B. x=1
C. x=3 D. x=5
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

The value obtained in the function is given back to main by using keyword?
A. volatile B. static
C. new D. return
A structure member variable is generally accessed using the
A.  Address operator B. Dot operator
C. Comma operator D.  Ternary operator
A union member variable is generally accessed using the
A.  Address operator B. Dot operator
C. Comma operator D.  Ternary operator
Which function gives the current position of the file?
A. fseek B. fsetpos
C. ftell D. rewind
The enumerated type is derived from which data type?
A int B. float
C. double D. char
The pre-processor directives must be preceded by which symbol?
A * B. &
C. @ D. #
Array can be considered as set of elements stored in consecutive memory locations but
having
A.  Same data type B.  Same scope
C. Different data type D.  None of these
If the two strings are identical, then strcmp() function returns
A -1 B. 0
C. 1 D. yes
Which of the following cannot be checked in a switch-case statement?
A. Character B. Integer
C. Float D. enum
#define square(x) x*x
void main()
{ - -
int i;
i = 64/square(4);
printf(*%d",i);
}
What will be printed when sample code above is executed?
A. 64 B. 16
C. 4 D. 8
What is default storage class of variables in C language?
A. Extern B. Auto
C. Static D. Register
What is the work of break keyword?
A. Halt execution of program B.  Restart execution of program
C. Exit from loop or switch D.  None of the above
statement
void main()
{
int x[]={1,2.2,3},i;
clrscr();
printf(“%d”,x[1]);
}
What will be printed when sample code above is executed?
A 2 B. 22
C. O D. 3

Fast access of array elements can be done using
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26.

27.

28.

29.

30.

31.

32.

33.

34.

A. Pointer B.  Call by reference

C. Call by value D.  None of these
A character array always ends with

A.  Null(\0’) character B.  Question marks
C. Full stop(.) D.  None of these
int x[5], *p; and p=x; then which one operation is wrong?

A x++ B. pt++

C. p=x[1] D.  None of these
void main()

{

int x[]={1,2,3};
printf{(“\n%d”,sizeof(x));

What will be printed when sample code above is executed?

A 3 B. 2
C. 0 D. 1
header file is to be included for using string functions.

A. str.h B. string.h
C. stdio.h D.  None of these
void main()
{
char name[]="Gujarat”;
char *a;
a=name;
printf(“%s”,a);
What will be printed when sample code above is executed?
A. Guijarat B. G
C. A D.  None of these
void main()
{

char text[]="12345\0ABCDE”;

clrscr();

printf(“%s” text);
}

What will be printed when sample code above is executed?
A. 12345 B. 12345ABCDE
C. 12345\0ABCDE D. ABCDE
Which is correct way to declare a pointer?
A. int*p; B. *intp;
C. intp*; D. int px;
void main()
{

int x, *p;

P=&X;

*p:2;

clrscr();

printf(“\n x=%d”,x);

What will be printed when sample code above is executed?

A x=2 B. x=0

C. x=65504 D.  None of these
The main() is a

A.  User defined function B.  Library function

C. Keyword D.  None of these



35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

The meaning of keyword void before function name means
A.  Function should not return any B.  Function should return any value

value

C.  No arguments are passed D.  None of these
By default the function returns
A. Integer value B.  Float value
C. Char value D.  None of these
Recursion is a process in which a function calls
A, tself B.  Another function
C.  Main() function D.  None of these
Array are passed as arguments to a function by
A. Value B. Reference
C. Both (a) and (b) D.  None of these
int x;
void main()
{

clrscr();

X++;

printf(“\n %d”,x);
What will be printed when sample code above is executed?
A 1 B. 0
C. Garbage value D.  None of these
The loads specifies file in the current program.
A.  #include B.  #define
C. #ifndef D.  None of these
A macro defined with directives can be undefined with #undef directive.
A. #define B.  #include
C. #ifdef D.  None of these
The pre-processor passes the source codetotheC__~~ .
A.  Compiler B.  Assembler
C. Interpreter D.  None of these
The pre-processor directives are always initialized at the
A. Beginning of the program B. Runtime
C. Compile time D.  None of these
#define SQUARE x*x*x
void main()
{

int x=10;

printf(“%d”,SQUARE);

getch();
What will be printed when sample code above is executed?
A. 100 B. 10
C. 1000 D.  None of these
int j[4] the sizeof(j) and sizeof(int) will display the value.
A. 82 B. 22
C. 28 D.  None of these
The number of bytes required for enumerated data type in memory is
A. 2 bytes B. 4 bytes
C. 1bytes D. 3bytes
#define product(a) a*a
void main()
{

int a=3,m;

m=product(a++);
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48.

49,

50.

51.

52.

53.

54,

55.

56.

clrscr();
printf(*“\t a=%d m=%d”,a,m);

}

What will be printed when sample code above is executed?

A, a=5m=9 B. a=5m=25

C. a=4m=16 D. a=4m=9

The keyword else can be used with

A. if statement B.  do...while statement
C.  Switch() statement D.  None of these

In switch statement the default statement is executed when
A. All the case statements are false ~ B.  One of the case is true
C. One of the case statement is false D. None of these

void main()
{
float x=2.3;
clrscr();
X+=0.2;
printf(*“%f”,x);
What will be printed when sample code above is executed?
A 25 B. 43
C. 4 D. None of these
A C variable cannot start with
A. Analphabet B. A number
C.  Aspecial symbol other than D. Both (b) and (c)
underscore
The declaration of C variable can be done
A.  Anywhere in the program B.  Indeclaration part
C. Inexecutable part D. Atthe end of program
void main()
{
clrscr();
printf(‘“\nIndia is”);
sub();
getch();
}
void sub()
{
printf(““ my country”);
}
What will be printed when sample code above is executed?
A. Indiais B. my country
C. India is my country D. None
void main()
{
Printf(“\n%d”, strlen(“123456”);
}
What will be printed when sample code above is executed?
A 6 B. 5
C. 7 D. None of these
What is the ASCII range for A to Z letters?
A. 651090 B. 48to57
C. 97to122 D. None of these
The result of the expression (10/3)*3+5%3 is
A 11 B. 10
C. 8 D. 1
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57. The result of 5&&2 is

A 1 B. 0
C. 2 D. 5
58. What is the result of 8%10?
A. 8 B. 2
C. O D. 1
59. void main()
{
int a,b,c;
a=9;
b=10;
c=8;
c=(b<a || b>c);
printf(“\n %d”,c);
}
What will be printed when sample code above is executed?
A -1 B. 0
C. 1 D.  None of these
60. A short integer variable occupies memory of
A. 1bytes B. 2 bytes
C. 4 hbytes D. 8 bytes
61. The word ‘continue’ is a
A. Keyword B. Password
C. Header file D.  None of these
62. In C ‘sizeof’ is a/an
A. Variable B.  Operator
C. Keyword D.  None of these
63. The keyword ‘const’ keeps the value of a variable
A. Constant B. Mutable
C. Variant D.  None of these
64. How many keywords in ANSI C?
A 32 B. 33
C. 42 D. 15
65. The escape sequence ‘\t’ is a
A. Tab B.  Next line
C. Backspace D.  None of these
66. Which function is used to detect the end of file?
A. feof() B. fputs()
C. ferror() D. fgetch()
67. The EOF is equivalent to
A -1 B. O
C. 1 D.  None of these
68. A file opened in w+ mode can be .
A. Read/write B. Only read
C.  Only write D.  None of these
69. When fopen() fails to open a file it returns
A 1 B. -1
C. Null D.  None of these
70. The fscanf() statements reads data from
A. File B. Keyboard
C. Both(a) and (b) D. None of these
afesAcll
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10.

11.

12.

13.

14.

yal QU @Qscu
gl R a[]={0,2,4,6,8}; &l Al a[4] oll (U g uA?

A 2 B. 4

C. 6 D. 8

gl 12 int a[5][5]; 8lat Al 3ectl AAN2U RR U ?
A 5 B. 25

C. 10 D. 0

L 2 int a[50]; 8l Al decll A@AH U @R UA?
A. 49 B. 50

C. 51 D. O

\n 3l 3ld Qo °?

A.  printf("\n"); B. echo "\n";
C. printf(\nY; D. printf("\\n");
5.0/2 ol AB2ye 3¢ UA?

A 2 B. 3

C. 0 D. 25

€5 C ULOUH HIL 1 $520t Sl & o] ol 9?

A.  switch() B. main()

C. struct D. for()
W2 alaund 9 RR s B ?

A. Datatype B. Address
C. Variable name D. value
W2 Hi % A WAR Al Aoll 32t 28U 9 8l & ?
A. Integer B. Character
C. Floating D. Array
A3lAAA ol AJAU WUl 5cll §85 Asll clluRcdl Hi wa B.
A % B. ,

c. * D. &

L int matrix[3][3] Aol GelgWU B.

A. 2-Darray B. 1-Darray
C. 3-Darray D. 4-Darray
void main(){

int x=2;

for(x=1;x<5;x++);
printf(“x=%d\n”,x);

}

UL Sls A gl ugdl 9 Moz 6 ?

A x=0 B. x=1

C. x=3 D. x=5

$59lol WIAY UL ULl main() $520t ol A Reel s2all sl slas cuaA B?
A. Volatile B. static

C. new D. return

RSU AR ol AsAU scll KAl U2 dURA B?

A.  Address operator B. Dot operator

C. Comma operator D. Ternary operator
Y[A2Aot N1t o AsAY sRcl KA AU AURIU BD?

A.  Address operator B. Dot operator

C. Comma operator D. Ternary operator
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Sl ofl 532 WRAet Qlall Kl §520t AURAU B?

A. fseek B. fsetpos
C. ftell D. rewind
WSS sl 32l 2leu Hi Ul Acuni wa .
A. int B. float
C. double D. char
YQUIRRR (332t oll v 50l Rl duRld B2
A * B. &
C. @ D. #
UR ol UL AU A3l YRleddl URL AAN2Y oll A2 d313 raulot
U ACUHL A,
A Ul YRUWL 3L 2Ly B. g 2wl 28U
C. el uaol 3at alsu D. el s ugt o3
ol A RZoL UM &l Al stremp §520t 9 Real 5237
A -1 B. 0
C. 1 D. yes
Switch case o{lA ol W&l 9§ A5 54 el
A. Character B. Integer
C. Float D. enum
#define square(x) x*x
void main()
{ . -

Int I,

I = 64/square(4);

printf(*%d",i);

}

UL 5ls WA gl ugdl 9 Moz 6 ?
A. 64 B. 16
C. 4 D. 8
Allanid ofl [35lce R scud 9 8l B.
A. Extern B. Auto
C. Static D. Register

Break $lal$ ol HI2 duAA 8.
A Qo A DA™ Ul wesal B Qo o g3l ol eé s2al
Cogu i ol ssl? ollscian wa Do upuell s ugL «il?

RAu weNe Hi

void main()
{
int x[]={1,2.2,3},i;
clrscr();
printf(“%d”,x[1]);
}
UL Sls AR vl uedl 9 Moz ud?
A 2 B. 22
C. 0 D. 3
R AANe A sk WU sl AURA 8.

A. Pointer B.  Call by reference
C. Call by value D. None of these
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26.

27.

28.

29.

30.

31.

32.

33.

34.

33522 AR oll Wos Aol YL UL B.

A.  Null(\0”) character B.  Question marks

C. Fullstop (.) D. None of these

%\ int x[5], *p; and p=x; &lal Al o{lAetl Hiell 5 BURAA VIS B.
A X+t B. p++

C. p=x[1] D.  None of these

void main()

int x[]={1,2,3};
printf(“\n%d”,sizeof(x));

}

UL Sls NRAA vl ugdl 9 Moz uR?

A 3 B. 2
C. 0 D. 1

2oL $52let oll 05 sl 58 3SR SIBA AUAU B.

A. str.h B. string.h
C. stdio.h D. None of these

void main()

{

char name[]="Gujarat”;

char *a;

a=name;

printf(“%s”,a)

}

UL 5ls WA gl ugdl 9 Moz 6 ?

A. Gujarat B. G

C. A D. None of these
void main()

{
char text[]="12345\0ABCDE”;

clrscr();
printf(“%s” text);

UL 5ls A gl ugl 9 Moo a?

A. 12345 B. 12345ABCDE
C. 12345\0ABCDE D. ABCDE
W2 (35AR sl ofl AA 3 585

A. int*p; B. *intp;

C. intp* D. Int px;

void main()

{
int X, *p;
p=&X;
*p:2;
clrscr();
printf(“\n x=%d”,x);
}
UL Sls NAM vl uedl 9 Moz u?
A x=2 B. x=0
C. x=65504 D. None of these

Main() 9| ©.
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35.

36.

37.

38.

39.

40.

4].

42.

43.

44.

45.

A.  User defined function B. Library function
C. Keyword D. None of these

590t oll WL void Slad St dl ol 9 A e B,
A. Function should not returnany ~ B.  Function should return any value

value

C. No arguments are passed D. None of these
ol (S5lee $s59let 9 [Reql 52 B.
A. Integer value B. Float value
C. Char value D. None of these
Recursion WA Ui §52et Slal Slcd 82 B.
A, U B. ollat $52let
C. Hot $590t D. Ul As uw @
wR wRHe 3cl A W s B,
A. Value B. Reference
C. Both (a) and (b) D. None of these
int X;
void main()

clrscr();

X++;

printf(*\n %d”,x);
}
UL 5ls WA gl ugdl 9 Moz 6 ?
A 1 B. 0
C. Garbage value D. None of these
o{lA ol WUl sloL AR(ES $I8A WolH Hi AS 52 B.
A. #include B. #define
C. #ifndef D. None of these
o(lA oll el 58 staRs(al ol undefined $cll #undef SlaRs(@al cuRA 8.
A. #define B. #include
C. #ifdef D. None of these
RQURAR A 8ls Sla W 52 B.
A.  Compiler B.  Assembler
C. Interpreter D. None of these
QAR staRs@A sNall sau? slRlcusys aa 8.
A. Beginning of the program B. Runtime
C. Compile time D. None of these
#define SQUARE X*x*X
void main()
{

int x=10;

printf(“%d”,SQUARE);

getch();
}
UL Sls NAM vl uedl 9 Moz ud?
A. 100 B. 10
C. 1000 D. None of these
%\ int j{4] Al sizeof(j) 4\ sizeof(int) 9 (1A 5.
A. 8.2 B. 22
C. 28 D. None of these

10/13



46.

47.

48.

49.

50.

51.

52.

53.

54.

WefHres 32l asu Hi dedl ougfe AHI qupA B,

A. 2 bytes B. 4 bytes
C. 1bytes D. 3 bytes
#define product(a) a*a
void main()
{

int a=3,m;
m=product(a++);
clrscr();
printf(“\t a=%d m=%d”,a,m);
}
UL Sls NAM vl uedl 9 Moz ud?
A. a=bm=9 B. a=bm=25
C. a=4m=16 D. a=4m=9
A Slas slofl WA aujA B,

A. if statement B. do...while statement
C.  Switch() statement D. None of these

Switch @2Ne i B5lce Ree su? Asoilsye Al 8.

A. All the case statements are false B.  One of the case is true
C. One of the case statement is D. None of these
false
void main()
{
float x=2.3;
clrscr();
X+=0.2;
printf(“%f”,x);
}
UL 5ls WA gl ugdl 9 Moz 6 ?

A 25 B. 43
C. 4 D. None of these

C ARlanc Slott Ul 93 ol U A3,

A. Analphabet B. A number
C. A special symbol other than D. Both (b) and (c)
underscore

C ddland sl BsAR ues Ak ®.

A.  Anywhere in the program B. Indeclaration part
C. Inexecutable part D. Atthe end of program
void main()
{
clrscr();
printf(“\nIndia is”);
sub();
getch();

}
void sub()

{
printf(* my country”);
}
UL Sls VAR vl uedl 9 Moz u?
A. Indiais B. my country
C. India is my country D. None
void main()
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55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

65.

66.

{
printf(*\n%d”, strlen(“123456);

¥

UL Sls WA vl ugdl 9 Moz au?

A 6 B. 5
cC. 7 D. None of these
A dl z ol ASCIl e 9 8l B,
A. 651090 B. 48to57
C. 97to 122 D. None of these
L (10/3)*3+5%3 AsAY Aot of Wl 9 &A?
A 11 B. 10
C. 8 D. 1
5 && 2 oll wallol g &9,
A 1 B. 0
C. 2 D. 5
8%10 oll el 9 &3,
A. 8 B. 2
C. 0 D. 1
void main()
{
int a,b,c;
a=9;
b=10;
c=8;
c=(b<a || b>c);
printf(“\n %d”,c);
}
UL 5ls WA gl ugdl 9 Moz 6 ?
A -1 B. 0
C. 1 D. None of these
Short integer AZlAUA Hi 32l AHI au ©.
A. 1hbytes B. 2 bytes
C. 4 Dbytes D. 8hbytes
Continue A$ %j 8.
A. Keyword B. Password
C. Header file D. None of these
C i sizeof 9 B.
A. Variable B.  Operator
C. Keyword D. None of these
Const $lad ailaud ol A} o AW B.
A. Constant B. Mutable
C. Variant D. None of these
ANSI C Hi ¥ecl slad 8la 8.
A 32 B. 33
C. 42 D. 15
AU RAscer 1L\t 9 B.
A. Tab B.  Next line
C. Backspace D. None of these

SO AoS UL Y B W AQLall M2 53 $520l AU O,
B.

A feof()

fputs()
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67.

68.

69.

70.

C. ferror() D. fgetch()
EOF ol GRIKR 9] UL

A -1 B. 0

C. 1 D. None of these

ol S W+ HIS Ml 3lUet sall Hi 4A Al A A% 8.
A. Read/write B. Onlyread

C. Onlywrite D. None of these
%2R fopen $LEEA W Uet oll 531 2B AR 9 Real 52 B.

A 1 B. -1

C. Null D. None of these

fscanf @2de A HUl 32l s 52 B,

A. File B. Keyboard
C. Both (a) and (b) D. None of these

*hkkkhkhkkkhkhkkkihkkkik
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